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THAANIA-ST (FAFCielh  HehieldH) TECHNICIAN-B (ELECTRONIC MECHANIC)

us 6 cm = w1 men, sfrewor fafE fd | a9 21 v 5=, 3w fid =, 6 cm U B v =
R A1 2| Y 1 T 8

A sphere of radius 6 cm 1s made up of modelling clay. A child reshapes it in the form of a cone of
base radius 6 cm. The height of the cone is

(a) 12cm (b) 24cm
fc) 36cm (dy 48cm

ush Higl Fl F9 30 @@ foan 8 v s @ 6 gm faen g dan # 3 m gl w R, Iue Fed v,
FHH @ 4 m FW 0% Ragdt o T5aa 21 @i H 7= 2

A ladder is placed against a wall such that its foot is at a distance of 3 m from the wall and its top
reaches a window 4 m above the ground. The length of the ladder is

(a) Tm (b) 6m
(c) 5m (d) 45m

(x* —ﬁx+é = 0) gt & @ige (w2) &

The roots of the equation (x” —6x+8 = 0) are

(a) 4,2 (by 4,2
(c) —4,-2 (dy 4,-2
TV x TAT TEY,

Find the angle x

e

(@ 40° | (b)  50°
©) 60° d) 70°

UF AATHH e F &A% 500 cm? 71 3fE vtz 1 e 25 om @, @ I afify 2
The area of a rectangular sheet is 500 cm”. If the length of the sheet is 25 cm, its perimeter is

(a) 40cm (b) 80cm
(c) 90cm (d) 100cm
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10.

weh e 3, 18 wEfEaT §1 7R s # el w1 fawa 60% #, @ wan d F@ oEl £ gen

In a class, there are 18 girls. If the percentage of girls in the class is 60%, the total number of
students in the class 1s

(a) 20 (by 24
(c) 26 (d) 30

T ATeRh (FEH) G FeR Ffai

The resistance offered by a conductor is

(a) FEP HPR-F BAEE 3 oward 1 #1359l 8 / Directly proportional to its cross section
area and length

(b) IGH IFATEI-FIE AFA 3 “raTd 1 SJERAEAT & / Inversely proportional to its cross
section area and length

(c) Iud e % S s 30T 36 S FIE FH AAG H SFeRAEIE! & / Directly
proportional to its length and inversely proportional to its cross section area

(d) IH% FIRY F1e EFGA H W1 ST 3 TS H FohHET 2 / Directly proportional to

its cross section area and inversely proportional to its length

59 1 A % fea e 3110 Q ¥ wfadw # & 5 e o wanfea e e 2, A1 3@ e | wfodue %
foret oft wm ©f @ wafed e anaw &

When a current of 1 A is passed through a resistance of 10 Q for 5 minutes, the total charge passed
through any section of the resistor during this time is

(a) 50 /50 Coulomb (b) 300 &= /300 Coulomb
(¢) 500 =& /500 Coulomb (d) 3000 e /3000 Coulomb

Ry, Ry 3t Ry 17 ufdtai =1 soft # sirer man 21 Ry w fargge fomma 20 W 2 3 R, W dieest firrae

4v 213 R;=20Q ® R, =3Q & & Ry 1 7 1 87
Three resistances R;, R; and Ry are connected in series. The power dissipation across R, is 20 W
and the voltage drop across R; is 4V. What is the value of R; if R;=2Q and R3 = 30

(@) 340 (b 5Q
(c) 8Q ' (d 10Q

afe gfimy % wagea wfg 10 Q B, @1 R %1 O 391 27

If the equivalent resistance of the circuit is 10 Q, what is the value of R?

80
AN R
e L AAN—
L—AnA———
802
(@) 6Q (b) 4Q
) 3Q - : d 20Q
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11.

12.

13.

14.

i dees Fram  sman, dedst frae & et 9 of e gaa T Jead § emf— e

According to Kirchhoff's voltage law, algebraic sum of the voltage drop and the emf’s in any
closed loop network is

{a) W& /One

(b) S | Zero
(¢) emf & WY 79 § AUH / Greater than absolute value of emf

(d) EHIN U GAEHE PO [ A positive integer always

afz Cy= Cy= Ca= 3uF 2, a1, 12 flt mu whwy & wogey forga wiften o0 27

What is the equivalent capacitance in the following circuit if C; =G = Gy = 3uF?

a e
(a) 1uF (by 3uF
(c) 9pF (d) 27uF

f13 f3 o qfigy & fre, W Seds E = 20 V & i wfedus R = 10KQ # 37 2918 D o faferia
=tz 21 "=l faga &1 afeem i)

For the given circuit, the source voltage E = 20V and resistor is R = 10 KQ and the diode D is a
silicone diode. Compute the circulating current.

D
E— R
(a) 1.98mA (b) 2.02mA
(c) 1.93mA - (d) 2.07mA
yifedh! =4E # & 8
Schottky diode has a

(a) s ¥ adeTers S99 / Semiconductor to semiconductor junction

(b) arfEs ¥ ug F99E / Semiconductor to metal junction

(c) u| #® gg F#¥H / Metal to metal junction

(d) wnieTers @ eEEafEs amfl S@E / Semiconductor to dielectric material junction

5 703 TE(EM)



16.

17.

18.

19.

afé a=0.99 %,ﬁ%ﬂﬁdﬂq@ﬁm%mﬁﬁa’rﬁﬁaﬁﬁq
For a bipolar junction transistor determine pifa=099

(ay 0.5 (by 2

(c) 99 (d) 100

F9: P YT 3 N SHR F srdaEEs] # a4 & e 1w

The materials used for making P type and N type semiconductors respectively are
(a) il 3 Afeam [ Arsenic and Gallium

(b) wiERw 3R A / Phosphorous and Boron

(¢) ufzAE 3ft Afemy / Antimony and Gallium

(d) 3ffzam 3ft smERS / Indium and Arsenic

s e 1 e afafwarersa —— g & S 2

Inductive reactance of an inductor is given by

1
2x fL

© 2rfL () Ji::—ﬁ

@ 27fL (b)

e C 3 G &, S V o w9 w0 3 @ T e 2

Energy spent in charging a capacitor of capacitance C to a voltage V is

(a) CV by Cv?
0 cv?
@ 5 | L

s wiom i 1@ 3 g yaEl & @ e R

The force between two magnetic poles placed in a medium is

(a) @i % 61 gt 1 g JEt / Directly proportional to the distance between them

(b) @i % st i gt % af %1 Fem A / Directly proportional to the square of the distance

between them
(c) @l % i gt H1egeRaETdl / Inversely proportional to the distance between them

(d) 2F % ¥ f1 g & of w1 ForTITE / Inversely proportional to the square of the distance
between them

6 703 TE(EM)



U Frehd T S @ W H Alm 1 91 % S e g 0w o 21 we § B 3w Y gradn
e wed 3g1 w21 o 4 e w2

A rod of magnetic material is placed in a uniform magnetic field of strength H A/m. Magnetic flux
density of B Tesla is developed in the rod. The absolute permeability of the rod is

(a) BH (b) BH
(c) B/H (d) B/H
ST & ——— gry g @ 2|

Transformer rating is specified in

(a) HP (b)) kW
() kVA (d) kWh

U ZEHH H, gt @ W 200 w3k et o W 20 @2 21 WAl 500V AC TEE & H31 2
dehell § a3eqe dieed fha 27

A transformer has 200 turns on primary and 20 turns on secondary winding. The primary is
connected to 500V AC supply. What is the output voltage in the secondary?

(a) 50V (b) 100V
(c) 500V (d) 1000V

0.2 H 3t 0.3 H i W3- i1 1 Fveferl (Fga) oo § 3@ a@ 3 921 3 75 395 emfs, 0.1 H
TIH A YAl S o AT N FIIES F1e & | ufuy 6 gugen Al @ 8 e

Two coils of self-inductance 0.2 H and 0.3 H are connected in series such that their emfs are
additive with coefficient of mutual inductance 0.1 H. What is the equivalent inductance of the
circuit?

(a) 0.6H (b) 0.006 H
() 0.7H d) 0.07H

i el Wl % g gaan - Hier & At @ w9 8, g, feadt af 5t ' =0 F g

The core of rotating machines are made up of laminations of very minimum thickness to mainly
reduce which of the following loss

(a) Teeditfam a1fy / Hysteresis loss

| (b) v faga ware 4fd / Eddy current loss
(c) @ &fd / Copper loss
(d) = =fa/ Stray loss

7 703 TE(EM)



25.

26.

27,

28.

29.

e SEEE Hies #1 siieafa d, v verd % geehE e, aue e s wwe gl #, g oo
01 shfted 21d & 28 wed @
The property by which the magnetic moments of a material are ordered in the same direction and of

the same magnitude in the absence of an external applied field is

(a) aUEEEEdEAT / Paramagnetism (b) HfEmEs / Ferrimagnetism
(¢) @2 grashEar / Ferromagnetism (d) urETATEE [ Antiferromagnetism

fe=t 5@ 101101 =1 2vweE § gfiafds #ifau

Convert the binary number 101101 to decimal
(a) 55 (b) 45
(cy 110 (d)y 90

= g 1111, + 1100, &1 7t w7 hifom
Find out the result of binary addition 11115 + 1100

(a) 1011; (b) 11011;
(¢) 1111; (d) 10101,

(i) A =0, B=1, C=1 311 (i) A =1, B=1, C=1 % 3992 = foru, fafeifias oftoy % smaeqe &
For the inputs (i) A =0, B=1, C=1 and (i1) A =1, B=1, C=1, the respective outputs for the following

circuit are
ﬁ
X
B : ' ) Dn
-
(a) 0.1 : R
() 1,0 (d) 0,0

 frerfafiad § @ S-m1, 9% NOR 712 %1 g% 27

Which of the following represents a standard NOR. gate?

@ 1 rb— b ) >bo—
© ) — - @ 1 r
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30.

31.

et fqae # Ush ves g fom fee mu UK fRea-vein # Q) steeqe w @ e 3 o fe wrn @
A J=1,K=0?

In a J-K flip flop triggered by the rising edge of the clock signal, what is the output ‘Q’ when it is
triggeredand J =1, K =07

(a) 1

(¢) =i aftada 78 / No change

ZMe | Toggles

23792 NOR 12 % fére 7o 25t 2
The truth table for a 2 input NOR gate is
(a)
Inputs Qutput
0 0 1
0 1 1
1 0 1
1 1 0
(b) :
Inputs Output
0 0 0
0 I 1
1 0 1
1 1 1
fc)
Inputs Output
0 0 1
0 1 0
1 0 0
1 1 1
(d)
Inputs Output
0 0 1
0 1 0
1 0 0
1 I 0

703 TE(EM)



32.

33.

34,

3s5.

frefafaa d 4 $R-mr, faga- s & fou ad oimy 27

Which of the following is the correct circuit for a Bridge Rectifier?

(c) ‘>—|§ (d)

% oI vads d I |y & e w8

What is the function of coupling capacitors in a transistor amplifier?
(a) 392 &1 9a4q / To amplify the input

(b) avefagy ® =Hifta F / to limit the bandwidth

(c) DC &m@8 § g8 %1 g1 F / to avoid interference in DC bias
(d) wfeama i #9 #ET1 / to match the impedance

Load

v# 7ed Op-amp & foru, Frefefigs o & F-m fawes wd 27

Which one of the following options is true for an ideal Op-amp?

(a) 9= 3qe wiey, 37a 33eqe Wiaty / Zero input resistance, Infinite output resistance
(b) 3d 399z wfvdiy, 3 amIzge gfedia / Infinite input resistance, Infinite output resistance
(c) 3rd 39ge wfady, Y= am3eqe ufddiy / Infinite input resistance, Zero output resistance
(d) I $99E vl Y= ez wfaty / Zero input resistance, Zero output resistance

60 KHz %% g % dve ui fheet % Q-Haet &1 femma wmgy, fo ot 359 & -3 dB Fe-311%

- wrafeai & wHw: 47 KHz 3 77 KHz

Calculate the Q-factor of a band pass filter with center frequency 60 KHz, lower and upper -3 dB
cut-off frequencies are 47 KHz and 77 KHz respectively.

(@ 05 by 2
(¢) 30 (d) 15

10 703 TE(EM)



36. Tfafed 4 @ FF-a1, Fefa DC frag gwd w1 wm 78 27

Which of the following is not a part of regulated DC power supply?

(a) fFFRR / Rectifier (b)  T&e2t / Filter
(¢) =fHE= / Oscillator (d) e / Regulator

37. Q%’Rcﬁﬁﬁﬁ,fﬁaﬁaﬁmiﬂmaﬂ%ﬁmgﬁq

Choose the correct equation for the time period for oscillations in an RC oscillator?

(a) 1/(2nRC) (b} 2zRC
() V(2nsgrt (RC) (d)  2msgrt (RC)

38. B fod mu ufgy @1 R gug w20

What is the time constant of the following circuit?

2 K Ohm
Vin 0.25F == Vo
(a) 500 pSec (b) 500 mSec
{c) 3.14 mSec (d) 0.5 uSec

39, P @ e vads gfmy &, ﬁnaﬁlrrrfﬁ:trﬁ%%qmafnﬁzmmwﬁmm&q?

In the following amplifier circuit, what should be the value of R, and R; to get a gain of 607

R2

W\

R1
e Vo
Vi —
(a) RI=1KQ,R2=6.1KQ () Rl1=1KQ R2=61KQ
() RI=1KQ,R2=59KQ (d) Rl=1KQ, R2=59KQ

A 11 703 TE(EM)



410,

41.

42,

43.

A1 fe&t mu fag (i) 3l (i) = weifi
Identify the symbols (i) & (ii) given below:

1] ]
i Cathode
Gate
Gate Anode
Cathode
|
(a) (i) TRIAC (ii) DIAC (b) (1) TRIAC (i1) SCR
(¢) (i) SCR (ii) TRIAC (d) (i) DIAC (ii) TRIAC
DIAC # et 7reia &em o1 %l 1 gf

Identify the incorrect statement/s for a DIAC

(i) DIAC, ¥fe aftar & 2 / DIAC belongs to thyristor family

(ii) 8 +ve A —ve MY ac THFHA ¥ IE FeaT 1 GaT & /It can be triggered by either +ve or —ve
half of ac cycle

(iii) DIAC fafewr /@1 2ae # / DIAC is bidirectional avalanche diode

(iv) DIAC w& 2 i, 2 2fifaet 39w & / DIAC is 2 layer, 2 terminal device

(a) (i) 3 (iv) g41 / Both (ii) and (iv)

(b) & (ii) / only (ii)

(c) (i) 3R (iii) §H1 / Both (ii) and (iii)

(d) %= (iv) / Only (iv)

TSIV WHIY 412 (LED) %1 fmin % ITI0T F BT B
Light emitting diodes (LED) are manufactured using
(a) Fafssia / Silicon (b) wieHE / Phosphorous

(c) #fgzm smda1Ee / Gallium Arsenide (d) iR SIS / Germanium phosphide

HIEl EATE I FreThal
Conductivity of the photo diode

(a) 19 W19 38 9T A B ot wed & / decreases when light falls on it

(b) o W= 3 W fiwar & /g1 & / increases when light falls on it

(c) @ 38 vt ey e 2 At syaRafda @ar 2 / does not change when light falls on it
(d) == v 39 9 figar 2 /1 98 Y & 9 ® / becomes zero when light falls on it

12 703 TE(EM)
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44.

45.

46.

47.

Fafafan ste zamm gfag = 2

The following block diagram indicates:

Static Bypass
Rectifier Inverter
o
Mains % s | Load
e ————— ey -
oe I AC
Battery

(a) 34 @A UPS /Online UPS
(b) 317 @@ UPS /Offline UPS

(¢c) g s=ifded UPS / Line interactive UPS
(d) 3f=nfe UPS / Industrial UPS

T | -8 grEsr el (22h) %1 3. VCP § BT 87

Which of the following are the magnetic heads used in a VCP?

(i) %=1 22/ Audio head (i) fafeat 22 / Video head
(iii) #=F= #8 / Selection head (iv) faF=w 22 / Control head
(a) (i), (ii) and (iii)

(b) (i) and (iii)

(c) (i), (ii) and (iv)

(d) (i) and (ii)

CD W fraifén, 1 ITEM F o S B

Recording on a CD is done using

(a) grashm fafyr / Magnetic method

(b) weiEr fafs / Optical method
(c) foedfl fafyr / Electrical methods
(d)y 39t @t / All the above

wH CD & 0 3 1 1 FaE wel i Erifeinif-

InaCD, 0 and 1 are technically called as

(a) T 3 291 /dot and dash (b) Tz 3 Wi / pit and flat

(¢) fa= 3 3= / low and high (d) =39 3 3 / down and up
13
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48.

49,

50.

5L

52.

a3,

ﬁl:%rf@aﬁ@ﬁm@wmﬂ?ﬂﬁ,%ﬁﬂﬂmmﬁmﬁﬁﬁaﬁ%%mﬁﬁmm%?

In which of the following communication system, messages are sent in the form of images over

telephone lines?
(a) 2T [ Telegram
(c) %& /FAX

RADAR,
RADAR works on the principle of ——

(a) whafasm / Reflection

(b)  HYFHT / Refraction
(¢) M / Scattering

(d)  =9of sieeht wfifmas / Total internal reflection

(b)  ¥1-f=T / Tele-printer
(d) 3T &4 / All the above

F Togagmdi ool  fogr w wm @ 2|

of electromagnetic waves,

ﬂma#ﬁwﬁﬁammﬁ%%qﬁw&hmm%

In mobile communication, shape of the cellular region for maximum coverage is

(@) FEH / Circular (b)
(c) &1 /Square (d)

Bt / Triangle
92494 / Hexagon

RADARW%Mﬁnﬁﬁﬁqmmaﬁ%?

Which of the following statements is true for RADAR Altimeters?

(a) 384 iR &4 & /1t contains automatic guns
(b) Wﬁ?ﬂaﬁﬁi‘aﬁﬁtﬁﬁﬁm#ﬁﬂwmmw%f[tisusedfnr

determining the height of planes with respect to ground

(c) wﬁ%ﬁﬁmﬁ%mmwmm% /It is used for collecting

information about submarines

(d) 3I9E @t / All the above

$H 8 BTN, SR H1 977 76 2

Which of the following is not a part of computer?
(a) @2 /Keyboard (b)
(c) Wt f§& / Floppy disc (d)

'sqﬁaam-m,m{ahm)ﬂm%?

Which of the following is a volatile memory?

(a) RAM (b)
(c) EEPROM (d)

14

CD 29 / CD drive
I & HE T/ None of the ahove

ROM
88 5% / Hard disk

703 TE(EM)



54.

56.

&7

58.

59.

60.

fa= & CTRL + V &1 3991 8 &
In Windows, CTRL + V is used for

(a) Tord gmeft =61 #id %9 % 99 / for copying an item
(b) TEES F @ied & fAT / for opening a document

(¢) TEEs &1 994 & fau [ for selecting a document
(d) = foa e amnft & faue % W/ for pasting a copied item

T FH-H1 FE VIR 27

Which of the following is an internet protocol?

(a) GUI (b) TCP

(c) USB (d) URL

TF 16K RAM # fazm % wvgnm 1 gma Bt 2

A 16K RAM will have a storage capacity of ——— bits

(a) 131072 (b) 16384

() 16000 (d 2'°

fargaaradhig 701 %1 97 8

Velocity of electromagnetic waves 1s

(a) 3 x10® kms’ (b) 1.86 x 10* miles 5™

(©) 3x10°ms” (d) 37 ® ° *iE 92 / None of the above

wmﬁm{mﬁfﬁm}mwﬁgﬁaﬁ

Power rating of an ideal isotropic antenna is

(a) 0dB (b) 1dB
(¢) 100dB d) 50dB

AM F=m | Tt (fewiieia) ofR safoestor (s=asim) 1 aem 1 96 w8

Key parameter to reduce distortion and interference in AM transmission

(a) WigewH 3299 / Modulation index (b) wigaA ¥ / Modulation depth

(c) (a) 3 (b) A1 / Both (a) and (b) (d) 3weh § & %I 98 / None of the above
foue Qe wieme (Hfem) damw 41 ga @

The efficiency of Double Side Band Suppressed Carrier transmission 1s

(a) 33.333% (b)y 50%

) 75% (d) 100%

15 ' 703 TE(EM)



61.

62.

4.

65.

% I W m@ﬁazﬁwmﬁmﬁaﬁam%

The purpose of buffer amplifier in an High level AM transmitter is to match

(a) i dfer % 3 wlvamn % @y sgh sedeat F1 SEeHe ufmmar / Qutput impedance of
frequency multiplier with input impedance of the carrier oscillator

(b) g BediIRR % $Y2 WiqenT % HA Ffram @ifera w1 Eege wiganar / Output impedance of
carrier oscillator with input impedance of the frequency multiplier

(c) Hfem diferm & amsege wfrsnan % @y sghi TEEITEL H AP wieramar / Output impedance

of frequency multiplier with output impedance of the carrier oscillator

(d) 39ires # & &1 & / None of the above

s gEESeTs ffie §, 9@ 550 KHz R 1050 KHz 1 safrt w 2 famet w1 e s g,
At sl o 73 firmea da 29 &)

In a Superhetrodyne receiver, when 2 signals at frequencies 550 KHz and 1050 KHz are mixed
together, new signals are generated at frequencies

(a) 550 KHz (b) 1050 KHz

(¢) 500 KHz and 1000 KHz (d) 500 KHz and 1600 KHz

wF 500 O % At wfdg % 25pA TEfiet H 10 A Tefizt § 8 e G 87

How will you convert a 25uA ammeter having an internal resistance of 500 € into 10 A ammeter?
(a) vt 12.5 mQ wfekig 1 g / By connecting 12.5 mQ resistance in series

(b) ¥= & 12.5 mQ fdy Fr Fig /By connecting 12.5 mQ resistance in shunt

(c) oft § 1.25 mQ wfedy #1 Sirgat / By connecting 1.25 mQ resistance in series

(d) W= ¥ 1.25 mQ sh@ F dgH/ By connecting 1.25 me resistance in shunt

a3y @ e, S e i 20 kQ 3R diee A Feier @ 31 ' i 1 mA F1 T Fhd
fasrqmamg #1 9 T ez sifs waesia 27

Given two ammeters 'a’ and 'b', where ‘a* has a sensitivity of 20 k< per volt and 'b' has a full
scale deflection current of 1 mA. Which ammeter is more sensitive?

(a) a

(b) b '
(¢) (a)3M (b) a1 w9 & HagTfier / both (a) and (b) are equally sensitive

(d) 3T H ¥ %18 T8 / none of the above

w Bz A Wi ¥ Ao * fee 3fea 21

A hot wire meter is suitable for measurement of

(a) A /Power (b) @ed [ Voltage

(c) oA wag / Current 1 (d) wfemmen / Impedance

6 703 TE(EM)




66.

67.

68.

69.

70.

o A SE % A & for g 1
A megger is basically used for measurement of

(a) uidy ﬁl?lﬁ Tar@ [ Circuit current

(b) uftay et / Circuit voltage

(¢c) 99y 9Et / Circuit power

(d) frame foz@m wa@ / Leakage current

T T TR frgra ™ %19 =4 B

A clamp tester works on the principle of

(a) 718 / Resonance

(by wiftan / Capacitance

(c) I / Induction

(d) 3wk § & 13 T8 / None of the above

Srerest # e e weRfa i B o, whiy ok Re sgf

A spot is d%splayed in the oscilloscope when the sweep and signal frequencies are
(a) W # @@ & / Out of phase
(b) firm &/ Different

(c) T9H & /Same
(d) 390w # & ®1g T8 [ None of the above

s Felrz fpw m=@ § e w1 FE 2

The function of cathode in a cathode ray tube
(a) WA gEIid %1 / To emit protons

(b) =g waETid ®1 / To emit neutrons

(c) e TEIRE 1 / To emit electrons
(d) IwrE @+t / All the above

s TV frftan #, el oem =i H w1 = 2

~Ina TV receiver, the synchronizing pulses are fed to

(a) ¥%H ™ / Electron gun
(b) uiEg / Cathode

(c) Taae =@ % @few 3it s fewerat @iz / Horizontal and vertical deflector plates of the

picture tube

(d) Fzeor frg / Control grid

17
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72.

73.

74,

75.

Sfetfersm wamor 6, 1 3T e fafed e sem 53 o )
In Television broadcasting, video signals are produced using

(a) drem-gaf / Oscilloscope

(b) UHEMFEFIT / Jconoscope

(¢) #F%R / Microphone

(d) P~ / Loud speaker

ﬁn%ﬁmﬁﬁﬁmm,wﬁmmuﬁam,4%@%%%%%%%%?

Which among the following devices allows 4 surveillance camera images to be monitored on a
momtor at the same time?

(a) fafedt f&mmgm / Video splitter
(b) & f@=t / Quad switcher

(c) Higetat / Modulator
(d) 3IWE & ¥ =5 78 / None of the above

e dg, m-mw,@mmﬁ,mmﬁm%w%mm%?

Which among the following circuit is suitable for selection of required RF signal in a radio receiver
(a) ufadus / Resistive
(b) %ﬁﬁqﬁa / Capacitive

(¢c) FHAE! / Resonant
(d) I F F *5 78 / None of the above

freferdt, e et st —— ey w03 41 aman 2

Fidelity is the ability of a radio receiver to reproduce
(a) #ifer 313f9 / Fundamental frequency
(b) ®mHIF @R / Harmonic frequency

(c) (a) 3 (b) @F1 / Both (a) and (b)
(d) 390 4 | %13 78 / None of the above

SETT & wa W o e v o amara g 2
Path of radio waves during propagation depends on

(a) HARW % YR / Type of transmission

(b) 39Fm fhu T TFAT / Type of antenna used

(c) 394m i 7§ PR / Frequency used

‘(d) 39iRE @t / All the above

18 703 TE(EM)




